
Lin.Alg. eredmények

Neptun zh1 zh2 pzh1 pzh2 alairas % ajanl.jegy
A15WV6 9 ∗ 8 ∗ Nem 0 ∗
A4T88S ∗ ∗ ∗ ∗ Nem 0 ∗
A86ANU 5 20 ∗ ∗ Nem 0 ∗
AAL6HP 2 22 17 ∗ Nem 0 ∗
ACUEBO ∗ ∗ ∗ ∗ Nem 0 ∗
AGQU01 24 31 33 ∗ Igen 89 5
AQYO8L 20 16 ∗ 28 Igen 66 ∗
AT0H7A 11 ∗ ∗ ∗ Nem 0 ∗
BM7SGF ∗ ∗ ∗ ∗ Nem 0 ∗
C0LLER 29 33 ∗ ∗ Igen 86 4
CBOYZF 15 ∗ ∗ ∗ Nem 0 ∗
DD6ZL3 ∗ ∗ ∗ ∗ Nem 0 ∗
E0EOAN 2 ∗ ∗ ∗ Nem 0 ∗
E4WG1P 10 1 ∗ ∗ Nem 0 ∗
EIO1RQ 23 28 20 30 Igen 75 4
EZ3YRC 20 25 ∗ ∗ Igen 65 ∗
F0JG61 10 23 16 ∗ Nem 0 ∗
F4XQRO 21 20 ∗ ∗ Igen 60 ∗
F5HV4G 16 27 21 ∗ Igen 66 ∗
FM9CP9 ∗ ∗ ∗ ∗ Nem 0 ∗
G06PST ∗ ∗ ∗ ∗ Nem 0 ∗
G1RFPG 9 16 23 13 Nem 0 ∗
HD9DOJ 22 37 ∗ ∗ Igen 82 4
HR6121 ∗ 31 33 ∗ Igen 86 4
I15BEJ 20 7 ∗ 24 Igen 61 ∗
I40FDC 24 36 32 ∗ Igen 93 5
ISNMXB ∗ ∗ ∗ ∗ Nem 0 ∗
IY5AM2 ∗ 16 16 31 Nem 0 ∗
JON6EO 8 11 ∗ ∗ Nem 0 ∗
KJSPMW 20 22 7 ∗ Igen 61 ∗
KLNSPG 20 23 ∗ ∗ Igen 62 ∗
KZU1U6 20 ∗ ∗ 10 Nem 0 ∗
L27NCJ 20 16 27 36 Igen 85 4
L87667 ∗ ∗ ∗ ∗ Nem 0 ∗
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LBP8ST 11 ∗ 3 ∗ Nem 0 ∗
LRY9XW ∗ ∗ ∗ ∗ Nem 0 ∗
LV8GJH 24 20 30 30 Igen 83 4
MHF8YA ∗ ∗ ∗ ∗ Nem 0 ∗
MPW46D 23 34 ∗ ∗ Igen 80 4
P5C7I8 8 ∗ ∗ ∗ Nem 0 ∗
P7C7TQ 3 20 7 ∗ Nem 0 ∗
PI5J1V ∗ ∗ ∗ ∗ Nem 0 ∗
R65UKG 14 20 9 ∗ Nem 0 ∗
R8H3FT 4 ∗ ∗ ∗ Nem 0 ∗
RBSFOP 15 23 14 ∗ Nem 0 ∗
SYQ7E2 23 38 ∗ ∗ Igen 85 4
TJQ86A ∗ 21 23 ∗ Igen 61 ∗
U3ROFS 14 25 25 ∗ Igen 69 ∗
ULA7Z2 37 39 ∗ ∗ Igen 103 5
UY5E1L 7 14 18 17 Nem 0 ∗
V9ZK10 14 24 23 ∗ Igen 65 ∗
VGDVGI ∗ ∗ ∗ ∗ Nem 0 ∗
VTJ4ES 14 25 17 ∗ Nem 0 ∗
WJB0DC 33 34 ∗ ∗ Igen 92 5
WMATPR ∗ ∗ ∗ ∗ Nem 0 ∗
WO02D7 ∗ ∗ ∗ ∗ Nem 0 ∗
WRWF4M 11 0 ∗ ∗ Nem 0 ∗
XPGMCH 20 21 ∗ ∗ Igen 60 ∗
YJ0BOZ 10 ∗ ∗ ∗ Nem 0 ∗
YMBODX 17 20 28 ∗ Igen 66 ∗
ZF440N 13 17 21 21 Igen 57 ∗
ZY5P7F 13 23 14 ∗ Nem 0 ∗

Alairas: (sikeres (zh1 VAGY PotZh1)) ES (sikeres (zh2 VAGY PotZh2))
Osztalyzas: 50%-62: 2, 63-75: 3, 76-88: 4, 89-100: 5.
% = ( max(zh1,pzh1) + max(zh2,pzh2) )*(100/80) + plusz%, (felfele kerekitve)
ahol plusz%: sikeres zh1: 4%, (sikertelen zh1, sikeres pzh1): 2%,
ugyanez a zh2-re.
megajanlott jegy: 4 vagy 5 jegy eseteiben.
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